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B3 —2

WP TR 25 36 A R

(F204E 3 A RBL(E)
BIERRAK FAK IR (K - flikoA) D/ S ¢
w| ks | O b R | e [ e | AR T A .
W) (#;3) E‘ijt(?fgm% %@(;fgm% kil | sk R S it

1|kl 513, 897 507, 773 98.8 58, 552 325 328 1 25 46 62 134
2 |4 176, 454 170, 098 96. 4 22, 464 17 363 7 6 4 3 20
3 |FEmB 90, 555 88, 522 97.8 14, 623 489 453 1 3 2 6
4 [\ 40, 692 39, 727 97.6 5,684 417 397 1 13 10 24
5 |HiE T 127, 040 121, 536 95.7 16, 590 433 377 1 1 11 12 25
6 [/ & ™ 115, 280 62, 460 54. 2 10,718 451 507 5 8 56 11 80
7ok N 50, 369 44, 863 89. 1 8,428 544 525 2 15 21 38
8 |t T ifi 40, 298 36, 269 90.0 6,944 453 534 1 10 2 10 23
9 [P R 94, 550 91, 550 96. 8 17, 390 454 522 2 13 1 8 24
10 |/ 7 44,918 42, 460 94.5 6, 950 452 460 4 42 1 18 65
11 |38 iR 35,771 34, 532 96. 5 19, 948 609 1,668 2 13 8 11 34
12 |k & Wy 8,101 7,388 91.2 785 361 291 1 2 3
13 |05 @ T 10, 907 8,527 78.2 4,285 521 1,427 18 8 26
14 k2 mi BT 31,424 31,190 99.3 3,533 371 320 1 2 2 5
15 [RE &6 AT 22, 680 21, 394 94.3 3,415 484 441 1 3 2 4 10
16 | 7 AT 19, 685 17,138 87.1 4,167 392 696 1 19 23 43
17 |t 5 0T 12, 152 11,903 98.0 2,210 513 510 2 1 1 4
18 ks Ep HT 4,697 4,648 99.0 1,982 430 409 3 1 1 5
19 & e |7 12,317 11, 962 97.1 2,506 388 574 1 4 5
20 (% m My 26,576 26,411 99.4 6,107 622 637 1 6 4 11

&l 1,478, 363| 1,380, 351 93.4 217, 281 485 441 35 205 135 210 585
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BE#13—3 KEKBEEE
# - . e | - 5 S
5 = (mg/0) B - (mg/0)
1| — MBS 100fE,/me|[ 26 (M KU mRHZ 0.1
2 | KM AR 27 | Y 7 v e R 0.2
3| RIVLAROEDIAEY 0.01] 28 |7 eEvromarsy 0.03
4 KR OZEDILEY 0.0005| 29 |7 EEARLL 0. 09
5 [BELUROBZEOILEY 0.01] 30 |[HAALTALFER 0.08
6 [ OZEDILEW 0.01| 31 [MEHMOZEDILEDY 1
7 |OFEKROEDLAEY 0.01| 32 [7AI=wrgozroitsy 0.2
8 |Rflir v bW 0.05| 33 |BEROZDILEY 0.3
9 (v 7o A RO LY T v 0.01f 34 [AKORZD/ILAEW 1
10 |FEEEREZE 3R R OVlAE IR RE 22 57 10| 35 [F MU TLKRORZEDILEDY 200
11 | 5oRETZEOLEY 0.8 36 |~ HUEORZEDILEW 0. 05
12 19 FRXOZEDIEY 1| 37 kA A4 200
13 | bR 0.002| 38 |[HAT T, ~T Ry L (FHEE) 300
14 |1, 4-VF X 0.05 39 [AFFEEEY 500
15 |,1-¥Y7ruxF L 0.02 40 [B&A A s Al 0.2
16 [v=2-1,2-Y7poxFL o 0.04 41 |[Y=AAI 0. 00001
17 |[Yr7uwxz 0.02| 42 [2-AF A VRNLFF—/L 0. 00001
18 [ rF7mpp=FLo 0.01| 43 |IEA A L FiETEMEA 0.02
19 |[FUZopoxzTFL v 0.03| 44 |7 =/ —N3H 0. 005
20 [RoEBr 0.01| 45 |HHMWE (TOC) x2 5
21 |/ = e 0.02| 46 |pH 5.8-8.6
22 |7 muaki A 0.06] 47 [k B ThRn
23 |7 v ofifE 0.04| 48 |HA LTI
24 |7 mEsunAH 0.1 49 |@F 5 B
25 | REE 0.01| 50 | 2 JE
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EE3—4 KEEHAEREHEA
5 A4 el e | En

1 |[TrFEVROZEDILE Y 0.015mg/0LL T 26 0
2 (U ROEDEY 0.02mg/0LL T 26 0
3 |=y VRO EDREY) 0.01mg/0LL T 26 1
4 |HAHERREE R 0.05mg/0LL T 26 0
5 |1, 2—yrmnxsy 0.004mg/0LL F 26 0
6 |FFrx—1, 2—Y/unxiy 0.04mg/0LL F 26 0
7 |1, 1, 2—N)rrR=f 0.006mg/0LL T 26 0
8 |Mr=r 0.2mg/0LLF 26 0
9 |TZENLVEEY (2—F/LAFIL) 0.1mg/0LL T 24 0
10 |dHEERE 0.6mg/0LL 2 0
11 |(¥EEm 0.6mg/0LL 8 0
12 | b 0.6mg/0LL T 2 0
13 |Yraa7Eh=RL 0.04mg/0LL T 26 0
14 |fkraz—nv 0.03mg/0LL 26 0
15 [FEHH Rt Y B RO OTIELT, T R

16 |FREHEFR Img/0LLF 62 2
17 | IS, =T RN 10mg/0LL F100mg/0LL T 45 0
18 |=u W R EDIAEY 0.01mg/0LL T 41 6
19 | GEHELR R 20mg/ QLA T 66 3
20 |1, 1, 1—Ryrmnxzzy 0.3mg/QLL T 26 0
21 | AFIN—t—TF L —T)L 0.02mg/0LL T 26 0
22 | BB G~ BRI I M R 3mg/QLL N 26 5
23 [RKEE (TON) 3LUF 42 0
24 |FRFEIREW 30mg/0LL 1200mg/0LL T 42 0
25 |HEE 1ELLR 87 7
26 |PHfH 7. SRRE 87 6
27 R (T 7T ) —VREELLEEL, BH0IGESTS | 36 23
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FEH3—5 KEEH A EREHEB (R

N I = D) I
F P4, A me/e) | e |
1 | FUIA 0.02] 22 0
2 |~ (CAT) 0.003] 18 0
3 |FAUHLT 0.02] 18 0
4 |1, 3—r7aa7u~ (D—D) 0.002 8 0
5 HAEVFA 0.008] 19 0
6 | ATV I 0.005| 27 0
7 |7==FuF 4. (MEP) 0.003] 21 0
8 | AVTuFAT (IPT) 0.04] 10 0
9 |rranXo=,L(TPN) 0.05] 20 0
10 [Febr’™¥3IR 0.05] 18 0
11 |Z7eLRZ(DDVP) 0.008] 18 0
12 |[Z7=/7 )7 (BPMC) 0.03] 19 0
13 |[7or=ro7< (CNP) 0.0001] 6 0
14 [CNP—7 K -| 6 0
15 (47 o~ kA (IBP) 0.008] 19 0
16 |EPN 0.006] 18 0
17 [=oz 0.2 25 0
18 [ R 7T (VAR ALT 7 ARGEY)) 0.005| 6 0
19 (2, 4—Yr7uou7 = % Hie 0.03] 18 0
20 [R)Zoev 0.006] 18 0
21 [7&7=—F 0.08] 25 0
22 (AT R 0.001] 6 0
23 |7 URx 0.03[ 8 0
24 |N)Zavky (DEP) 0.03] 20 0
25 |EVR T FF 0.002] 18 0
26 | AT7a A 0.3 25 0
27 |=RN)PT Y — )L (= r7a ) —)L) 0.004] 6 0
28 [AFv 48 0.04] 18 0
29 | xTH 0.3 18 0
30 |7ooxr 0.05| 6 0
31 |MVIERAATF L 0.2 6 0
32 |7k T=)L 0.2 22 0
33 |~vvrmy 0.04] 7 0
34 [AETFIIL 0.05] 21 0
35 | X7u=,L 0.1 6 0
36 [T 2T 0.2 18 0
37 |TFAEL 0.008] 7 0
38 [z 7hrr 0.02] 6 0
39 [F7 a3k 0.03[ 6 0
40 |\EVTFhNT 0.02] 22 0
41 [T HIFA 0.01] 6 0
42 [~ 2YR (SAP) 0.1l 6 0
43 | F0 (N2 ) 0.08 6 0
44 |RUT A AX 0.1 7 0
45 |A=a7vovy 7 (MCPP) 0.005| 18 0
46 [AF T A L 0.03] 6 0
A7 |\ TZ77a—)L 0.01] 6 0
48 B/ (NAC) 0.05] 18 0
49 |[=F 47z HRA(T T R A, EDDP) 0.006] 18 0
50 |EesFor 0.04] 12 0
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N | == S I
F P4, A me/e) | e |
51 |Z7H 74K 0.1] 26 0
52 | A7 xFEvE 0.009] 20 0
53 | ZVFT7ra—)u 0.04] 19 0
54 | Av7ak)7 (MIPC) 0.01] 6 0
55 | TFA 77 —bAT IV 0.3 25 0
56 | T=/L7ua— L 0.2 7 0
57 |AFHF A4 (DMTP) 0.004| 27 0
58 |HL7m IR 0.04] 18 0
59 |[ZuE7FR 0.04] 11 0
60 |EUFR—Fh 0.005| 6 0
61 |7l 3F 0.09] 18 0
62 |[7=mkA 0.003] 6 0
63 | ThTTv 0.01] 6 0
64 |XTH 0.08] 18 0
65 | 7a~_=,L (DMTP) 0.01] 18 0
66 | ART—b 0.05] 18 0
67 |2 r7Uvk 0.005] 22 0
68 [y (DCMU) 0.02] 22 0
69 | RANLTFL 0.01 18 0
70 |=h7xr Ty s A 0.08 18 0
71 |7 F AL (MPP) 0.001] 20 0
72 |7 VRV —h 2l 20 0
73 |~ (=TFF) 0.05 6 0
R 0.03] 18 0
75 |~ 0.02] 22 0
6 | _LTFHhLT 0.04] 6 0
77 [T AR 0.03] 6 0
78 | AL —R 0.003] 2 0
79 |7x=F=—F(PAP) 0.004] 14 0
80 |[F7mr=v 0.02[ 18 0
81 |=F /L FA AN 0.004] 20 0
82 [Tu~_Fr— 0.05] 18 0
83 |==x7uhiLT 0.01] 18 0
84 |FALbur 0.8 19 0
85 |E7x/vrA 0.2l 6 0
86 [~z LTELAF L 0.4] 10 0
87 |~ vF—)u 0.08] 9 0
88 [r'~mAk=x 0.0009] 6 0
89 | AKX AR 0.02] 7 0
90 |7VFL Ak 0.5 21 0
91 | A 7HY iR 0.006] 20 0
92 |HEFIL 2| 18 0
93 |RUA—/3 Ak 0.03] 16 0
94 [ ~oxLTas AT L 0.3 6 0
9 |[Z7F¥RLTO 0.03[ 6 0
9% |FATHNLT 0.08] 23 0
97 |[Fuvrary—L 0.05] 7 0
98 |vT anmy 03] 6 0
99 [V FuXs T 0.2l 6 0
100 |[NUZ7 LT 0.06] 19 0
101 |7 = AE—I1 0.008] 24 0
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